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vi heavy.c EAJJL T, LFD7a 77 5% AJJLET,
#include ¢stdio.h>

main( int argc, char ==argv )
{
int i, j:
float a:
a = 1.01;
for( i=0; i<1000; i++ J{
for( j=0; j<50: j++ 34
a == 1.,01;

if( a>1000. ) a 1.01;

¥
h
printf( “a = zgsn", a J:

cc -o heavy heavy.c

EANLT, 7l 7028 lELET, I /NAANRET LD,
./heavy
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cd /usr/src/commands/ash

E AL (Jusr/src/commands/ash (ZB#E)L)

vi jobs.c

EANJJLT, jobs.c #fmEL., Exit (BRHIOAKRLT) MK LET, (Exit., &
HIO—XFOHRRKLTOLFIIL, ZOTTFTATIELEILMEDh TWEEA,)
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continue:
procno = jp->nprocs:;
for (ps = jp->ps ; : ps++) { s#* for each process =/
if (ps == jp->ps)
fmtstr(s, 64, “"[xd] »d ", jobno, ps->pid):

else
fmtstr(s, 64, " vd V', ps->pid):
outlistr(s):
col = strlen(sg):
s[B1 = '\0';
if (ps->status == -1) {

/% don’t print anything =~
} else if ((ps->status & OxFF) == 0) {

fmtstr(s, 64, “"Exit xd", ps->status >> 8):
} else {

i = ps->status:

#if JOB3
if ((i & OxFF) == 0177)
i »>= 8:
fendif
if ((i & Ox?F) <= MAXSIG && sigmesgli & Ox?F1)
scopy(sigmesgli & OxYF1, s):
else
fmtstr(s, 64, "Signal xd", i & Ox7?F):
Exit

[111% jobno (Y a 7&EF), IRD 6437t A ID THDHI NN £7,
F7o. Exit OWRICFERENTWD 1 21F, ps->status EWIHEHAZFIZ8 YT |
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Z Z 7T, heavy.c DIGHBRD ETORHZ, L OIFAODLELS LET, (FZWizn
1~ 20 V—T7E% j OV LIa%E 250~300 F2EIC L ET,
for( i=0; i{1000; i++ J{
for( j=0; j<250; j++ ){

a == 1.01;
ifC a>100, 3 a = 1.01;

¥
ZIZT, FTLTAHET,
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# ps

PID TTY TIME CMD
312 co 0:00 -sh
25 ¢l 0:00 getty
537 co 0:00 p=

26 cZ 0:00 getty
27 c©3d 0:00 getty

{_ Sheawy FEITENTLELY

m .~heavy & {_.Jheavyp&ﬁéﬁ
ps

PID TTY TIME CMD

312 co 0:00 -=h PID=53%

25 cl 0:00 getty /_

538 co 0:01 .rheavy

539 co 0:00 p=

26 cZ 0:00 getty N—

27 c3 0:00 getty LEndFoeET
# a = 4.96296
[11 538 Exit 12 .~heawy
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Kill EWoa<wy KL, BT TidZe, AT MEEE2XD ] EWIHKENRDHY

£7,
t .~heavwy & PID=547 T2 &}
ps
PID TTY TIME CHMD
312 co ©O:00 -sh
25 cl ©0:00 gett _
547 co 0:01 .sheawy SATEQTOT AL
: EEmED
548 co 0:00 ps SHDIES
Zb cZ2 0:00 getty
27 c3 0:00 getty

E kill -9 547
[

11 547 Killed { .~heawy
p=

PID TTY TIME CHMD

312 co 0:00 -sh

25 cl 0:00 getty
550 co 0:00 ps JOtADAERRET
Zb cZ2 0:00 getty
27 c3 0:00 getty
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